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NoteS Pocketr Day 17 |
Inveshgm‘mg Exponent Properties: Product of Powers |

Expression

Expand the expression

Simplified |
Expression a”|
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Try this one without expanding it.

Do you see a pattern that relates the expression in the first column to the
equivalent simplified expression? Write in words what you notice about the

exponents,

When mwlhpy:r\g i Ke bascs

ADD +hne expomn—rs

Try these on your own
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Here is the formal rule when multiplying exponential expressions with

the same base:
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Name

Simplify. Your answer should contain only positive exponents,

1) 2*.2°

7) 23 " 23

9) 3'.3°

11) 4v*-»*

13) 4v-20°

15) 4k* - 2&°

17) 4x°)” + 3y

19) x.lyz 3 XD}’" g 2}"3

23) 4x* - ¥y 2xyz3

2

2)2%-2

4) 4'. 4°

6) 3-3°

8) 2-2°

10) 3%-3°

12) dn-dn°

14) 4a” - 3a*

16) 4a°- 2a*

18) duv - 2u’v*

22 40
20) v ruy

22) 2x*y"- y%2*

24) rq2 A pqor2
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Investigating Exponent Properties: Quotient of Powers

Cancel factors | Simplified

Expression Expanded form Expression a”
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Try this one without expanding it. € o

o

Do you see a pattern that relates the expression in the first column to the
equivalent simplified expression? Write in words what you notice about the

exponents. When d,l'\/;d-'.”\j li Ke bases,
SUBTRACT ¥he exponents.

Try these on your own
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Here is the formal rule when dividing exponential expressions with the
same base: a a_’“’h
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Simplity. Your answer should contain only positive exponents.
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Expression Expanded Form | Expand further Simplified
Expression a®
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i Try this one without expanding it. 0.8

(x*-y%)°

| Do you see a pattern that relates the expression in the first column to the
equivalent simplified expression? Write in words what you notice about the

| exponents, When raising a power 1o a ]DOWCY‘9
MWLT] PLY +he exponents.

Try these on your own
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Here is the formal rule when multiplying exponential expressions by a
| power:
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Simplify. Your answer should contain only positive exponents.

1 (39° 2) (3%

3 (49 4) 2°

5) (2% &) (39°

7) 3* 8 (27’

%) (2n)* 10) (4}
1) (467" 12) (a*)’
13) ()" 14) (3xY)’
15) (o) 16) (2?7
17 (359)° 18) (2y)°
19) (2% 20) (3%’

21) (%3’ 22) (3a*p°%
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Practice: Rules of Exponents Alg 2 "
Review: Write the answer in standard form: me j

1) 5% = 2) 8squared =

3) (—6)*= 4) 9 cubed =

5) —4%*= 6) 21 =

7) —#= 8) (=3)° =

Rule #1: Product of Powers Property —>a™ - a™ = a™™"

9) $¥x5%= 10) 72-77-73 =
11) 3Ix3t= 12) (—8)*- (—8)2 i
13) 9)(92: 14) xB,xB=

Rule #2: Quotient of Powers Property — > == g™ ™

f = (=7)° _
15 5= 16) =
2% nts
17) S 18) =
19) 8°+8%= 20) (=9)°+(—9)° =
Rule #3: Power of Power Property — (a™)" =a™™"
21) (53)6 = 22) (n3)5 —
23) (2%)°= 24) |(-5)°)*=
Mixed Practice/Review:
25) 3%2-3-3%= 26) L=
27) n®+=n?= 28) 58 x52=

2} QP 30) [(—4)] =
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Exponent Test
Mo Cawl 63

Fill in the blanks
1) When multiplying exponents with the same base, you the exponents.
Z) When exponents with the same base, you subtract the exponents.
3) When finding the power of a power, you the exponents.
Simplify #4-9 completely.
4) (-3)* = 5) —3*= 6) (—20) squared =

7) (-2=__ 8) (-S)cubed=____ 9) —2%=

In #10-24, use your exponent rules to provide an answer in EXPONENT form.

10) 25e2¢ 11) [(-3)%? 12) (-12)4e(-12)6 [ 13) 25017250
Answer: Answer: Answer: Answer:

14) 8w +82 15) (z3)¢ 16) y2° 17) 137e13e133

yS

Answer: Answer: Answer: Answer:
'18) (927 19) (=73 20) x!Sexs 21) (65%)°
| (-7)
' Answer: Answer: _______ | Answer:____ Answer:

2rz

22) Simplify:

25

23) Simplify: 5%

3.p3

24) Simplify: 2426 (23)2 =




